ks

BEMNRTRBIBERINEHREE

1 FXEOHME
(1) FHEFROLR
I R EAE B R A TEA S R ATHRE

(2) FEFTOFEH
JRE AT R i — T H 3 — 3

(3) f&
b

2 EHEDEAR
AR m WL, Pk 1 9FEZILEFEE L L, PRk 2 9FENDL K 3 2 4
JEETO4ERET D,



3 BEMENAOKREHEEICET AIHENL BEDZERIKR
(BEH =2 B L T 2356)
B PEHE (£-C0,) , HIEEER (%)
ERE LS
| e | R VAR # L ] 0D Sk
BEZDRA A | Heis(a) T - A (BB - ZHEHHE (D), TE: : HIE O EEHEEELE (o))
e % : HIEE
DTS ()
S 194 g SErRs2tERE | EaeotErs | ERksomE | ek R | B R | Tk #E
LA 1,738 1, 869 1,840
TANE 1,810
ELTHCO, 3.9 -3.3 -1.6
T R —
iERCo,
AH
—f %%
Z DA
IREF A A
ST % 1,738 1, 869 1, 840
- sz 1,810
EHEH B 3.9 -3.3 -1.6
BN R AT A
BIe LHEH &

FEIEIIHRT 2
A LA

BT,

Z DEDOKIRI &> THIEFE ORI 2T L TS 720, BT NEE 22 F 5 b

X

IR () = ((b) = (a))/(a) X100

(R BN Z BB R & 3 255D
JR AL I W FRER

HITEE D et FEYEAR L (e) = ((a) = (d)) / (a) X 100

H A

| EEEEe [ OERC HE(O) 7] O F2
RN R AT A %A (a) T HlEeE (RBt : JREAALFERT (d), TEBE : HIEE D AEFEL (o))

DR (©)

TR AR TR AR TR EEE | PR AR | TR R | PR | PR R

T F—

iEEPCO,
FET RN F—

EFRCOo,

AR

—B b —ER

Z DAt




RSN RAT A

IREERIRAT A

e pE

R R 77.22 76. 3

BN (5UHHRS

kD) 99.6 98.8

FIRITHT D
H QA

X HIEER () = ((b)- (a))/(a) X100 HIE O3 EEEFEL L (e) = ((a) - (d)) / (a) X 100



4 BETHEARDOEFHOINEZ{% 5 EARMZEMEOERKIKR
O R=EZNE AT A OHHHNZ 1 72 B A
R B FLRH 2 L7
1| PRk A R B %ﬁ%iil%mﬁ%ﬁﬁtﬁ SRR D A A
o | Lt RO %T%@l%mﬁ%ﬁgk%% HE O
3
4
O B=ENENT A7 LYEHEOMHENZ T 2 B A (BREARE OIS )
O -
1
2
3
O  Z Do Bk A
5 R el A b LR L

BREEIZHLIE L 72 R R B 72 82 STV HITREA L T2 &0,




